
HIGHER SECONDARY (~_C_o_d_e_N __ o._5_6~) 

FIRST TERMINAL SECOND YEAR EXAMINATIONS 2018-19 
Part III 

ACCOUNTANCY WITH COMPUTERISED ACCOUNTING 

HSEII 

General Instructions to Candidates: 

Maximum : 60 Scores 
Time : 2 Hours 

Cool -off time : 15 Minutes 

There is a 'Cool off time' of 15 minutes in addition to the writing time. 
Use the 'Cool off time' to get familiar with questions and to plan your answers, 
Read the instructions carefully. 
Read questions carefully before answering. 
Calculations, figures and graphs should be shown in the answer sheet itself 
Malayalam version of the questions is also provided. 
Give equations wherever necessary. 
Electronic devices except non-programable calculators are not allowed in the examination hall. 
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n..1mi<flilion.0o~lro8 ~n..10(!))0(/)ldl6JJC1Jocm n..10s1\j\J, 

PART A-ACCOUNTING 

Answer all the questions from 1 to 4 each 
question carries 1 score 

1 IBl(O)<liS , OJQ(l)(D)l@i! <>m•~p C::41()<3_\-al3<f3.9Qlo 

@am»©QID'rl<ml.a. raoccao<m1roll) 1 m)C.a.:><3 ru'IUl)I) 

1. Which among the following is the summary 
of Cash Book? 

1. a»o@!P 'Mo (D) 6 onruw1m8 n.J6mn.J6 cru ®db<mm 16)1 
<TUo~loJ(O)o ofil®06ffi? 

(a) Profit and Loss Ale 
(b) Receipts and Payments Ale 
( c) Income and Expenditure Ale 
(d)Balance Sheet 

2. All the revenue items relating to the current 2. 

period are shown in this account. Identify the 
account prepared by Not for Profit 
Organisations. 

3. Under fixed capital method, the interest on 3. 

capital is : 

( a) Credited to Capital Account 
(b)Debited to Capital Account 
( c) Credited to Current Account 
( d)Debited to Current Account 

(a) e.io@-moiis <mdl6)'UGm 
(b) n.J6TT)o cruJ'lt0,m1d36)m8-mm8c0,m8 tffld36)'D6ra 

( C) OJ©OJ-6).!2.JeJOJ <m<B6>'!>6ra 
( d) 6YlJOc001n.Jl®o 

(ID(O(O) QJ©dl:16)«JTID o{j)l~JO OnJOl.\-6 mm6lm~60 
ca,oornlc86'l6cmrn mm C1llclc86'l'DEim1eJ06m. eJOO@ 
unJCO>l~o<mm (l'UOOn.J(06lJ13(m (0)(0)000<86>JOTI min 
C1llclcOO'DGm cml©l~o1w6dh. 

(l'UOlm i2l1eJwm m"l®1wm6cro©1~, 12lleJWm<mm1 

ml~ n.JeJl<IO ···············.. @.o..1~6cmi. 

(a) db.\O~lgm8 C1llclc00'!>6ralm8 6>ldhCW1g 
(b) db.\O<M1gro8 rcmcB6lrnGmlm8 @cwmllg 
( C) dbOGra C1llc)dl6)'U61131m8 6)ldbCW1g 
(d) dbOGra (lJ@dl6)'!>6ralm8 6)CWm.flg 
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4. Which among the following statement is not 4. C1l)OG>\l'nJ(')(D)!,cmruw1ro8 6)(1j)go(D) LnJcruimorum 

correct? <>{8®? 

(a)Donations for specific purposes are 
always capitalised 

(b) Opening balance sheet is prepared when 
the opening balance of capital fund is not 
given. 

(c) Surplus of Income and Expenditure 
Account is deducted from the Capital/ 
General fund. 

(d)Receipt and Payment Account does not 
differentiate between Capital and Revenue 
item. 

(5xl = 5) 

Answer any 3 questions from 5 to 8. Each 
question carries 2 score. 

5. Duringtheyear2017 aStarArtsClubreceived 
Rs.50,000 as entrance fees. 

As per the accounting policy of the club 40% 
of the entrance fees is to be capitalised. How 
will you deal with entrance fees received by 
the club? 

6. Gireesh, Pradeep and Shiju are partners 
sharing profits in the ratio 5:3:2. According 

· to the partnership agreement, Shiju is get a 
minimum amount ofRs.12,000 as his share of 
profits every year. The riet profit for the year 
ended 31st March, 2018 amounted to Rs. 
52,000. Prepare the Profit and Loss 
Appropriation Account. 

7. Write any two salient features of the Receipts 
and Payment Account. 

8. How will you treat the following items in the 
Final Accounts of a Not for Profit 
Organisation? 

(a) Legacy 
(b) Sale of old newspapers and magazines 

(3x2 = 6) 
Answer 3 questions from 9 to 12. Each 
question carries 3 score 

9. Meera, Rekha and Deepika are partners in 
Thripti Hotel. There is no Partnership Deed 
in the firm. 

(a) lnJO«J>_,\db mlg)OJ00_,\6lfl300c06)0\D)1 db131,cm 
<TUo@orum n(j)~OWO~O!P!,o 12lJeJWO>C'llru.aG>m1 
0c06)6ra(1l)06ll). 

(b) rucBtil:loroo@o 12lJe.iwmm1w1 cmcm131~om 
O\½:JO!P06ll) rumn9:lomo@ 61lJOc06)1nJL®o anwooa 
c06)icmcm. 

( c) QJ(l)ClJ-6).!l.JeJ(lJ C8Tl)c86)'tJ6ra1G>eJ 1Zl1~o IZlleJWm 
m1Wl(D)lro8ml ocmo @nJOC1l)6ml m1w1ro8 
mlocmo db6owc06)6ITTJ6. 

( d) nJ Gm o cruJi .a, co 1 c86> ro8 - m ro8 db ro8 am, .aG> 'tl 
~1<08 mm6lfl3@~ IZlJe.iwm @mEiTmG>~cmi,o 
orum16 mm6!Jl3G>~cm6o ana>o®1C01c06)ao1~. 

(5xl = 5) 

5 llll®~ 8 OJQ0(D)l~ "1iliP C.!1.l:>C3~61BCl3c86l6o 

1arm0611D':l'l®lclb s:ic::0acmlm60 2 (l\)Cclbac3 ruicmo 

5. ~om ~c8scru ~6T111ffi 2017 ro8 LnJOO.WOm 
n0'lcruomH so,ooo m1n..1 .a,131. C8Tl)c:86>'D6ralo(J) 

mw12Jm6cruafl-9d Ln.J<llruoom n0'1cru1@(JR 40% 

mi e.iwmruelc86)©1od36)6T"@®Q6ll). 2Q'D an 6 c&><Dl6 G>s 

0 CO 6tJ 6)~ SJ C!!ro> ro8 n(j) 6lJY36) 0) (D) 0 m>1 co1 cB6) J 6) m cm 
ln.J cru C1l)Qo.flc06) 6 db. 

6, (J)lcoia11, ln.JB'lnJ, n'l11Si!J nmcmi nJoms6mml2lom 

e.ial!lru6o m~sru6o Qfl(lJ)lc06)JCTn® 5:3:2 n(j)cm 

am, m 6 n1 o ctfl <mml e.i o 6ll). nJ m, o ~1 cmm l nJ mo 6ffi 

ln.Jdb0(1)o n9:ll~Jrulm 63QOCOO OJ©n9:IC'l1Jo 

db606IDTO)@ 12,000 C11ln..l afl«J>o e.ia@rulnD1«J>l2lO<D51 

ffi@<Jdb6Tlsctfl06ll). 2018 mom~ 31 6)eJ QJ©n'l10CTID,.\ 

C!!ro>l<Oil 52,ooo ©ln.J e.ia@mJGra. e.ioB-m~s 
n.JIB, 6 OJ(I))c£l6>ro8 arn)d36)'tlfim (lJ) (D)0(') OcOO J cfu. 

7. n.JGmo cruJ'lc&>rolc06lro8-mro8cfuro8 ramd'l6l'tl6ra16>(JR 

(l)G'fE crurulOOOtil:l®db<.m nfil!PJ®Jdb. 

8. {;!JG(J@um.J(D)l~oamn CT'UOOnJm61m~J 6lS OJ©n9:IOCJO) ,.\ 

<£l,6TT)cB6)!,db~lro8 ®06>\l'~()\D)l,(ll) 2Qffi6GBOO 

n(j)6Tm6>ITT 6)6)c£bdbO©Jio 6>.!l.JC9(lof 

(a) IZlCOGmOOO(T\)mBomo ( G>e.iu,crul) 

(b) n.J!P(D) n.JL«J>-IZlO<TUldbdb~JG>S rulein.Jm 

(3x2 = 6) 

9 fDl~ 12 OJQ<ll(D)l~ <>(j)61®1a,l0Jo J C.!1.l()C3.!J6lll3Cl3c9Q 

a}(Offl)©6)1ll\Pl(l)llcfb li3()C©:>cmlmlo 3 croc.a.a<3 OJ'la»o 

9. (g(l)6l.J, 12l'ICO, B'lnJ1db o(j)cm1ruc8 CID1nJCID1 <llnD03 

e.il G>e.i nJ ao ~1.a,~ Q6ll}. <TUDO nJ m©lOll m 63 © 6 
n1m,o~lamn LnJIZlQ6Tnl2ll~. 
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a) Deepika, an active partner claims Rs.3,000 
per month towards salary. 

(b)Rekha claims 10% interest on loan 
provided by her 

( c) Meera argues to share the profits in the 
ratio of their capitals. 

Examine whether the arguments raised by the 
partners should be admitted with reference to 
the provisions of the Indian Partnership Act, 
1932. 

10. Arunkumar is partner in a firm who draws 
4,000 each every month from the firm for 
which interest is charged at 8% per annum. 
Find the amount of interest on drawings 
assuming that he draws the amount on the : 

(a) First day of every month 
(b) Last day of every month and 
( c) Fifteenth day of every month 

11. Write any three differences between Receipts 
and Payments Account and Income and 
Expenditure Account. 

12. Show how the Tournament Fund appears in 
the Financial Statements of Brothers Sports 
Club. 

(a)Toumament Fund as on 31/03/2018 -
Rs.50,000. 

(b )Donations to TournamentFund-Rs.40,000. 

(c)Toumament Fund Investment (annual 
interest rate 10%) as on 31/03/2018 -
Rs.80,000. 

( d)Tournament expenses - Rs.30,000. 

(e)Awards and Prizes to winners-Rs.20,000. 

(4x3 = 12) 
Answer all questions from 13 to 14. Each 
question carries 4 score 

13. As per Receipts and Payments Account of 
Sahrudaya Library for the year ended on 
March 31, 2018, the subscriptions received 
were Rs.1,35,000. Additional information 
given is as follows: 

(a) Subscriptions outstanding on 01/04/2017 
Rs.20,000. 

(a) crum"lru n.ll.8JO§lwow o"lnJldh ln.lCIDlmocruo 

3,000 ©ln.l oocru§o ~0JCll>l6l'.½:1SJm>6. 

(b) ~ro6l.J CID@1 ruom>nJWc66l 10% n.Jefl® ~ru 

®.!i6l'.½:15J(ll)J. 

( C) lllJSc66>612:qcme.i1@1 arn,m6ruOCIDClmDlro8 e.JOGlo 

OJ"ICIDlc66>6TT)6)QlCTl) fll"l(l) OJCJBlc66>6(ll)6· 

1932 G>e.t n.1ra,:::i§lamf> mlwfllamnlG>e.t m16TlJ(TU)<n 

dh~micru«>l~ @;)Ol©JG>S ~aJ(/l),!i6lffiu8 

ctrnlocn"lc:e,rol <00omoru6ofllo nrocm' n.J©lo®o 

w1c66>6c6>. 

10. 63<l>J CTUOOnJCT><m>lG>e.t n.11.8,0§l ~(l)) «ml066Tl3 

.a,6mo© ng)~omocruru6o 4,000 ©ln.l ru"ICIDo 

nJ1o5rue..flc66)6<m6. min (O)Jdhm><B6> 8% nJe.iluo 

minSOc66)6TT)o. «m>WOC/0 nJ6TT)o n.11o5rue.J1 ~ (l)) 

(0)06lWnJO(Il)J (TT) m)CB©©6lm§1co3 ~6)6TT)IB, 1{o3 

n..llo5ruefl~ CID6dbw6G>s n.Je.t1oo dh6ffidl6lOdl6)Jab. 

(a) nro~o 12:lOcru<m>l@CJRWJo ~B,!i o1mamn1co3 

(b) <>©~ 12lOcru(O'I0)1@ag(ll)6o <lfOO.lcruom o1m(O'I0)1roil 

( C) ng)~O mocruru6o nJCID1m6ll!l..loo CID'1WCID1 

11. nJ6TT) o cruJ"I .a, 01 c66> co3-mco3 .a,<03 «ml c66),n 6Tls 6 o 

aJ(l)('}J-6l.!l.JeJaJ «ml<00'!>6Tls6o <ml2l2l1eJ6~ m,m'> 

ru~ an .!i ocru6lmu3 rl©\9), CID), <B>. 

12. l6TlJOB'9rn5 rn5oruosrn5 'il36TlJl6lCJR CTUOC11JClfro)lab 

O©Q.lcfh~lro8 s l ©6m6)12lcf' n0 i;m ng)6lll36lcn B ~ uo ,!i 
12l0c6>J 6ll2l@ cfh:::J61T)1 c66> 6 db. 

(a) 31/03/201B-6'eJ s1@6lT>6)fllCJR~ n0i;m - so,ooo 

«>lnJ 

(b) s2ro6TT)6)mcf' n06Tls1oe.i<B6> abl§lW cruo@orum 

- 40,000 ©lnJ 

( c) 31/03/2018 G>e.t s1@6TT)6>12lcf' nOGTE m1oc&a1nJo 

( ruoron'l:llab nJeJ1Cll> m1©<B6> 10%)- 80,000 ©JnJ 

( d) SJ©61T>6>12lcf 6)~e.Jrui.a,w - 30,000 ©JnJ 

( e) ~ruoroM6cfh@6o CTUl2l2lOCT>6lJB~6o- 20,000 ©Jn.J 

(4x3 = 12) 
13 IJllCIDmi 14 OJ6)©(D)J~ ~~() C.!l.J00~6mCISc661Jo 

t?(OOl)©6lfB'9JCOlJdb GIOC©OITT>lITTJo 4 (l\)Cdl,()0 ru'la»o 

13. (TUn!>.\BCQl lU)ffi.O<JOOe.JWJ6>S 2018 moro~ 31 6le.J 

ru@ n'l:I o om l nJ 6TT) o cn:u'l .a, ©1 <86l coll - m cw .a, coll 
«mlc06)'D6m Ln.Jc:8,CJ<l>o 12locruru«>1 @m(l)l0)1cw 1,35,ooo 

©JnJ .a,1§1W1§66m. ~wlc0, ru1ruco6l!Bu8 .!1.JJQJ6'S 

Q.!1.J©c66)6(ll)J. 

(a) 01/04/2011 coll ce,13om66Tlsow1©6<m mocruru©l 

20,000 02ru 
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(b) Subscriptions received in advance as on 
01/04/2017 Rs.12,000. 

( c) Subscriptions outstanding on 31/03/2018 
Rs.14,000. 

( d) Subscriptions received in advance as on 
31/03/2018 Rs.8,000. 

Ascertain the amount of subscriptions to be 
shown in Income and Expenditure Account for 
the year 2017-18. 

14. David and Kesav are partners in a firm 
sharing profits and losses in the ratio of 2: 1. 
Their capital were Rs.1,50,000 and 
Rs.1,00,000. The profit during the year were 
Rs.60,000. According to Partnership Deed, 
both partners are allowed salary Rs.1,500 per 
month to David and Rs.1,000 per month to 
Kesav. Interest allowed on capital @8% p.a. 
The drawings at the end of the period were 
Rs.10,000 for David and Rs.8,000 for Kesav. 
Interest on drawings David Rs.600 and Kesav 
Rs.400. Prepare partners' capital accounts, 
assuming that the capital accounts are 
fluctuating. 

(2x4 = 8) 

Answer any one question from 15 to 16 which 
carries 5 score 

15. Aparna and Sameera are partners sharing 
profit in the ratio of 3 :2 with capitals of 
Rs.80,000 and Rs.50,000 respectively. 
Interest on capital is agreed @ 6% p.a. 
Sameera is to be allowed an annual salary of 
Rs;l2,000. During the year 2017-18, the 
profits prior to the calculation of interest on 
capital but after charging Sameera's salary 
amounted to Rs.18,000. Aparna is eligible for 
a commission of 5% of the profit before 
charging Sameera's salary. Drawing during 
the year were Aparna Rs.6,000, and Sameera 
Rs.3,000. Charge interest@ 8% on interest 
on drawings for the whole year. Prepare Profit 
and Loss Appropriation Account showing the 
distribution of profit for the year ending March 
31,2018 

(b) 01/04/20,1 m8 l2lJ®c:Ebloow1 cfb1a1w l2lo(Tl)rum1 
12,000 ©ln.l 

( C) 31/03/2018 m8 c&.l§OffiJ~ 12l0CTUOJ(l)1 14,000 

©lnJ 

( d) 31/03/2018 m8 12lJmicfb2ooll>51 db731w 12loaurum1 

8,000 m1n..1 

2017-18 OJffldl:j6)<lllU) OJ©ClJ-6).!l..leJQJ «m<86>'D6ra1roil 

a(l)6lJG)l½:l56aam»6Tls 12lOCTUOJC01 (ID6cB, db6ID 

.B6>0cB6llc£b. 

14. <:(U)OJ1M, <:c:Eboocii o(l)<m1rum 2 : , o(l)<m amm6 
n.JO®am»lroil eioeo n.1&b60Jcdltt!6)6cm6. amrum6@s 
12lleJrumo tD>LOOLc£bl2lo 1,50,000 m2n.1w60 1,00,000 

©ln.lCDJlf2l061'1). @mm'S QJfflrB:16>«m» e.JOlllo 60,000 

©2nJ. nJ&h0~1«m» ln.Jl2l06ID Ln.JdbO©o ccwrulcwlco 
(.n.J<ID112lOffi)o 1,500 ©ln.lCDJJo Cc:EbUOOJlm Lo.J®112lO(Tl)o 
1 , o o o 0 l n.1 <I» 6 o u1Hru ~ o am, m 6 ru 131 c£l6) lo . 
12lJeJ(ll("f)(t)IG)1cn 8% n.JeJ1UO «m1cn6rua1c96>6o COlffi® 
Olffln!l:1@<010} OLMOCDJ1(J) cru (l(U)OJ1CW 10,000 

©JnJCD>6o <:cfbUDcii 8,000 ©Jo.JCDl.}o ~w1m6cm6. 
«ml<mlm CCWOJ1cwlroil mlon 600 ©ln.lCDllO 

<Scibuorulroil m1cm 400 0 6n.JCDJ 60 ctieJ1oo 
mrnsOc86)6mo. imcru.olm r.n19.1wm co1cmltD>m6 
aum1~ n.J&~1cfb~l@S 12lle.iwm «mcB6l'!>6T"Ellc£bCIO 
<l»<I»000c86)ldb-

(2x4 = 8) 

15 llll<N 16 OJQ0<Dl@!! ll(IQ<Ml,'wlG &l<Dl CA.13Bl<R1CD 

f!<OmCD0fl4JllmllA. 5 (l\)C.0.00 

15. amn.J~lo <1Ulll'io«»10 3:2 oa>cm <9mffiJn.JO(lJ) 
amn1ma eJ08o ruia»l.a6>Jcm n.HB>0~1cfb~06TT). 
«mOJ016>S m1e1wmo tD>LOOLc&.l2lo so,ooo ©Jn.JCDJ6o 
so,ooo <Dln.KDllQI0611). 1211e.iwm«m»1co Ln.Jcmlru@rll:lo 
6% ml0<£16>1m8 nJe.iluo c6J6mcB6lO <86>611)0. 
crumiom>dl6> 12,000 ©Jo.J ruo<3n9::11cfb C/ll(l}J~o 
tmCT>l OJ(31<£16>6IDo. 2017-18 cfbOeJOe.J3 am»1a!S 

12lJ e.iwm<m>1@1 o.J eJ1 oo db6TT>c000<86>l 
<m@lffilf2ll(l}Jlo n{j)<moro8 aumio<I»l6>S 
Ull(l}J~artcr>1m6aoon9::lo 1e,ooo <DJn.l e.ro©o dbl§l 
CTUQl10CDJl@S (ll)CTlJ~o @cfbOSJ<fl6llcmCOl1m l2lJCTllJ~ 
e.roe«m»16)~ 5% ttm,n.J<n6ll)cdl<86> .a.amirll:lmoll>51 

mm8cfb6IDo. ~ OJ©rll:lo ClJ@n.lc86ID 6,000 a>Jn.JCDJJo, 
(Tl)l2lio 3,ooo ©JnJ<D>Jo n.J1cmrue.i1~6. §)2'!> 

®JdbWcB6> 8% o.Je.1100 m'!)50tt!6)6IDo. 2018 12lOc8.gJ 
31 en am,rucruom1c£16)6cm ruc8r>!l:lG>com> eio©-mn!lds 
ru1®1<86>roil «mc96l'DGm ®CD>oooc£16)6db. 
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16. Extract of a Receipts and Payments Account 
for the year ended on March 31, 2017 is given 
below: 

Payments : Stationery Rs.45,000 

Aditional Information: 

Aprill, March 31, 
Details 2016 2017 

Rs. Rs. 

Stock of Stationery 14,000 11,000 

Creditors for Stationery 7,500 5,500 

Find out the amount of Stationery consumed 
during 2016-1 7 to be taken to the Income and 
Expenditure Account. 

(lx5 = 5) 

Answer question 17 which carries 8 score 

17. Following is the Receipts and Payments 
Account of Winners Sports Club. Prepare 
Income and Expenditure Account for the year 
ended 31st March, 2018 and Balance Sheet 
as on that date. 

R ece1pts an dP t A aymen s ccoun 
Receipts Aw.ou.nJ Payments Amount 
Balance b/d 7,000 Salary 11,000 

Subscriptions 30,000 Office Expenses 5,600 
Life membership 
fee 3,000 Printing & Stationery 2,400 

Entrance fee 3.250 Tournament expenses 13,500 

Tournament fund 15,000 Furniture purchased 12,000 

Sale of old paper 750 Cash in Hand 8,500 

Legacy 16,000 Cash at bank 22,000 

75,000 75,000 

Other Information: 

(a) On 1st April 201 7, club has Building 
Rs.76,000, Furniture Rs.15,000 and Sports 
equipments Rs.13,500. 

(b) Salary outstanding on 31st March 2018 is 
Rs.1,000. 

( c) Subscription outstanding on 31st March 2017 
amounting to Rs.3,200. 

( d) Depreciation is to be charged @10% on 
Furniture (including purchase) 

(Jx8 = 8) 

16. 2017 '2l0©~ 31 ITT ClmOJ<TUOm1c66>6m> OJ©n'lj6)(mo) 
n.J6Tl)o O'\.lJ1ce,m1cB6lro8-mro8cfhro8 <fflc:66) 'D 6Tls16)1 
!l..16m6c:66)o !l..16ru6)s O!!L.l©c:66)6(Tl)6. ac;,;w~mo1 ~m 
roro,1ro8 6)cfhos6m,mcm - 45,ooo min.J 

~wl.a. rulrumo: 
l1/IJ,ru1<1» 1, IIJ()iB~ 31, 

ru1oor1 a,, Wfiffl<d 2016 2017 

@Jn..1 aJJn../ 

~<;J;)l<ilimol m1c£!6)1wlm1~ 14,000 11,000 
~<;J;)l<iliITT01(Il)66)S n.J6ll)o 
6).e,OS6c£!6):)(1)~(0) 7,500 5,500 
( 6)(,.&.iCUl1Q<Ol1lO<n) 

201s-11 rum~6>mlffl rumru-6>.a..Jeiru cfh6Tl)t86)1©3 

@U06ll½::ISJ C:<tll'0)61'"8 a~~mo1 @n.J~<DlO(J)«nm16)1 

rm6cfh cfh6l6Tls(l)TO)l,cfh, (lx5 = 5) 

17-:>o C,.JJ(3~a,m1m !mm'ICll6l11'9J!3>JcB,, 8 <roCcB,30, 

11. rulc:(Tl)!9m'5 m'5al\.Jo<5sm'5 ~mil6>1 n.J6Tl)o O'\.l.flcfb 
m1.oom3-mro8cfhm8 am.oo'!>w <m06>'9 6>cfbos6amn1 

CD1c:66)l,<ml,, 201B CZIO©~ 31 6)eJ QJ(l)('lJ-6)!l..leJQJ 

ralclc:66)'!>6m:l,o 6TlJOdl6>1n.JL<mOJJo (l))ll))000c66>l,<.6>, 

dJ.§'lrD!!I» (IJ)J♦ &>,!J,3SJ11RIIMJ> fll)Jdh 

6'1lJOeKl5mi b/ d 7,000 <JO<nl~o 11,000 

rum1 ll\loru,1 30,000 s:><.n1<nl 6l<>..11;!m11.a.ua 5,600 

~l!l,rum:xm <m~S1(l))lo 

tmo(.l)(O')J n0imi 3,000 O<);llnticnOl(l))lo 2,400 

SlOOT>6lllli 

LnJOQJClllm n0imi 3,250 6l .o.J eirul .e.ui! 13,500 

5)<n6Tl)Nlcii! nLl61'R 15,000 nLl<86T1)1~<3 ruo61J13l<DXm 12,000 

nJ!!'(l)) 13lm 

nJUOJ<O'l!lil6lOR oile'lr>.1cn 750 ~eiiu n.J6TT)o 8,500 

6leJ(J)crul 16,000 61110111,leill!lll nJ6TTlo 22,000 

75,000 75,000 

tng6 nflrum'fflu3: 

(a) 2017 ~Ln.J1m8 1 m ~mflm, 6>cfh§lSo 76,000 

<DJl'l-l, namGTT>1,2'<5 1s,ooo mJn.J, m'5al'l-lomsm3 

~n.Jcfh(l)6Tl)6ffluS 13,500 mJn.J na><m1ru(ll)l,6m. 

(b) 201a '2lom~ 31 m (J!)CTlJ§o 6)cfhos6t86>om6u«» 
1,000 (l)Jn.J 

(c) 2017 ~Ln.J1~ 1 CO '2l0m)OJ(l)1 cfh1§om6~cm 
3,200 (l)Jn.J 

(d) n.Oc86Tl)l.~o1m @10% (ru0&mm8 ~<1&6)<;tl6)S<n>J~) 

O<m<D> '2l0ffio cfb6Tl)IB6>0c:66)6Tl)o. 

(lx8 = 8) 
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PART B- COMPUTERISED ACCOUNTING 

Answer all questions from 1 to 3. Each 
question carries 1 score 

<Ol:>6l'.P~O<DJJCTO 1 rDJ(O)Clffl 3 0.16)0 ~~:> 

C::-'2.1:>0 .,\GmCJ3c9Qj o z?®m©SI HJ ®jA, 1 (l\)C::db:>0 ru'l<mo 

1. 

2. 

3. 

The security feature in CAS, which enables 1. 

to know who and what changes are made in 
the original accounting data is: 

(a) Password (b) Dataaudit 

(b) Data Vault ( c) Encryption 

The codes used by Indian Railways to denote 
some railway stations ~e given below: 2. 

Thiruvananthapuram - TVC 

Kollam - QLM Kottayam - KTYM 

Kannur-CAN 

N rune the coding system used by them. 

In a formula the cell reference is given as 3· 

'$A$5'. This cell reference is: 

(a) Absolute 

(b) Mixed 

(b) Relative 

(c) All of these 

d3JCTlJ.,\l:::iOW1~o1@ (9lc)d36>'DGmlou5 CTULCTlJBOCD.> 
rnTIDlmB etm<i36linGmloci5 cgcwg<DJ1ro8 ~ro, n©m» 
cmla> 6 COTIDe.JJ .a,(13 rua> l amnl G><Dl<m aim ~1 eJDd36>Dall 
croru>ocn>ld36l6cm cro6a>c&iHO croorulwomo n(B@? 

(a) nJO~(]QJM (b) cwogo eocwlg 

( c) cwogo (]QJOOO§ ( d) n©<ml.a,1nJn9:j(ffl 

~Ol».,\<E 6>0W1m8aru, G>ow1m8aru a~~m6c£bG>~ 
au1.o..11<;½j1c£)6) l cm@1mo(ll)1 ~n.10 (I).)0001 d36l 6 cm 
(]dbOM1oci5 0"1cml cmo@~ 6lc£bOS6«66>6cm6. ~ru16>s 
~n.JO<D>OU>1,!a,)1C01c006(TI) cg.a,oC\Dlooo 0"lcmlacmcm? 

@106rnm00>n.1600 - TVC @cfbo~o - QLM 
(]db03<D>o - KTYM .a,5001<5 - CAN 

63Clll Cln.Ooc8aiiei 6lCTU~1m8 '$A$5' nmcm 
()(l)6}J6)<;½j5),rnTO>lcm 6>CTU<08 6)0nOOallcru m"l@l 

na)<mf 

(a) mm60Joue.J.,\l§ (b) olaeig'lru 

( c) crooCD.>6 .a<m ( d) mru@ooi'idoo 

(lxl = 3) (lxl = 3) 

Answer any 3 questions from 4 to 7. Each 
question carries 2 score 

4 illj<ID<OS 7 (lJ&')(l) C::.!l..13C3lWl@lco3 3 C::'1.100j6fflu3~ 

!!anm(l)&'lrn1J1la»lc1b· 2 (l\)C::clb:>m ru'l®o 

4. List out any four essential components of 4. 

ComputerisedAccounting System. 

5. Name the sub-systems in Accounting 5. 

Information System related with the 
following 

(a)Dealing with payment of salary to 
employees. 

(b) Dealing with preparation of Profit and Loss 
Account and Balance Sheet. 

6. Give the cell address of the following in a s. 
Worksheet of the Spreadsheet software. 

(a) First cell in a Spreadsheet 

(b) Cell forming 7th column and.5th row 

dbonJ.,\230WlrlHOl@ tUri)c96)'!)61"81ocn (ruLCTlJBO<DJ 
«mD1ro8 mm«».,\OnJC/0.,\fllOCD> nQJ@«»&le.160 moei 
cmamlruOCOJ nel5c£b6fm00 a..1§lc£b6ll½:ISJ«mDJc£b. 

~loci5 rulru0 ru1m1aiCD.> cruoollwomcmmlm8 
(1l)()6)!9n.JO(I))J(TI)QJ(D)jQlO<D>l mJ(TU)6)<;½j§ @n.l 

cruoo.flwommm,16>1 an.1<0 a.JO<D\lc£b. 

(a) 6><ID0!91eJ08!1c£b8!l6'S OClJ®ffiOJJQlO<DJI 6lll(TU) 

6l\½:13® 

(b) eJO@-mniisc66l61l)c66ll6><1ROOJ60 6ll.lOd36>1n.Jl<ID 
amnl 6) 1 w 6 o cm CD.loo o c06> e.16 mo <D>1 mJ O'\.l) 

6'\½:1§®. 

m'56>lnJMn9:j"lg cgcrooru'igG>ru(D.)o1ro8 63C1>J QJ@c96) 

o9:f"t gl@ e.i ® o G> !9 nJ o CD.> 6 cm 6> cro 'id 6 ca,~ 6 6> s 
<mllLCWcru nJO(ll) J c£b. 

(a) rudlcB65 ~g1@e.i ~B.,\ @ouro8 

(b) rurocB65 n91"lg1@ei <mi)6m)J0Ql6)rnTO) OOO<DlJo 

nQ3'J>OrD6>«mD Ocfb08!ClJJO Q.o..J(!)JOT) G>cruro8 
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·b. Name the Spreadsheet functions used for the 7. 

following purposes: 
ano@~nJoCDJ6 cm ~ruuo d 6lffiWt86>J~ CTU6)lnJ<W 
~g nOo613r&lffiJ<B>~J6>S (]nJ© n.lOCDJ6<B>. 

(a) Find the number of cells with no data. 

(b) Combine two or more text items in 
different cells 

(3x2 = 6) 

1 Answer any 2 questions from 8 to 10. Each 
question carries 3 score 

8. Explain the merits of Computerised 
Accounting Systems (CAS) over the manual 
systems of keeping books of accounts in a 
business. 

9. Explain the three major components of a 
'formula' used in Spreadsheets. 

10. Explain the following terms in relation to 
Spreadsheets;-

( a) Data Validation (b) Pivot table 

( c) Naming ofranges 

(2x3 = 6) 

Answer the following question which 
carries 5 score 

11. Explain the 'Mathematical/Statistical 
functions' commonly available in Spreadsheet 
packages. 

(lx5 = 5) 

(a) (]Mg @2'iMO©lm @m)~Jt0>§6@s n©617Jo 
c:fu6)~©m>J<m<ID1m6~ n.Oo613_<'l!l:l®. 

(b) ©(]61Tso CGmcm1co8 .a,ls6cmcgeio 6)Scfh?;g mm 
6lm<J8 o<n>o~'M1~ @©6 6)m:,~1co8 .a:,o6ffi1.a6>6 
<m®1m6~ nOo613r&l®. 

(3x2 = 6) 

8 111danm& 10 ruo,0 ca..1ao1mi@1o& r,ffli)®m,le.110 2 

C.2J(lC1J,6lffiOO~ 9aMJ(a5>11llf'6m1.a.. :J mic.iMj ru'\<lJ>o 

s. mncru1m(f,lrl1ro3 ~d'J6)'P6fl'iJ~W oq><.96<m1 anwo 
o o cB6) & an m>1 cmc86>o uB ah cru dl313 ffil3 w1 ~ al <m 
ram <B6} 'D Gm 1 ow (f\) L m.1 Bow cmo'fl6><l'A a ai 02l<thu5 
rulru©1.e6lJc&. 

9. cru@Ln.lM ~'lg1co8 On.00tnlll6et.a,c,8 nfi)'96CIDJ 

cmCID1cn ~OJ(R)llllOCD> llll(ll) lo..JWO<O neJSc:8>61313<.m 
OJ1UOBlllOcB6> 6 c:fu 

10. OU6>lnJ(U)r&l'l$?61llOID.l1 6TlJmJ)6)'M3 (0)06)\PnJOCD>J,(Tl) 

n.JB6mW ru1UOBlllOc96)J,c9:,. 

(a) cmog ruoet1(](U)n9:f<m 
(b) n.Hru§ (]S611.J1u8 
(c) ao6'©l..11cn (]n.J@ mco8.a,co8 

(2x3 = 6) 

@):)6)Cfo..J()!DJlmJ C:.!l.l:J(3lam))lffi @tmmel>6)ill«:!ll<lfllc£b, 

5 m'.i~c&:J~ 

11. CTU6)LnJCWo9j'Jg nJO(]c00fQ),c8,g}1co8 ffi.lOW0©6'111 

c:Q)O:Qll ~n.J(]CQJ0(J)l.a6>JCTD 12l0<IDm6)12lg1.a6>co8 / 
<;Q,;log1~7c£!6)co8 n.006Bo9jffi),t0><.m rulruro1.oo6ce,. 

(Jx5 = 5) 
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